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A*
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Agro-climatic Regional Planning was
initiated in India with the inception of
(A) The First Five Year Plan

(B) Grow more food campaign

(C) In late eighties

(D) The Seventh Five Year Plan

The ecosyslem delermining agro-

ecological zones has Iwo

components viz. biotic and abiotic

Abiotic components comprise of

(A) Light, water and animals

(B} Minerals, planis and saoil
organksms

(C) Materials like water, minerals,
salls, almospheric gases,
anargy like light, heat and stored
energy

(D) Water, wind and plants

Ability of system (say agriculture)
maintain inter-regional equity and
enhancea, it required, the fllow of its
products and services by way of
linkages with other systems without
damaging its own long term potential
is called

{A} An efficlent system
(B} A sustainable systam
(C) A productive system
(D) None of the above

In jute growing areas the usual
alternate crop is

(A) Sugarcane
(B) Cotton

(C) Rice

(D) Wheat

5. - As per principle of crop rotabion

should be included in rotation bect
(A} They increase total pi

production

(B} They ralease land quickly i
second crop

(C) They help in maintenant
soll tertility

(D) They increase the yie
succeeding cereal crop

Low quality of Jute fibre is attribul
1. Discolouration of fibre
2. Very short fibre strands
3. Reduction of cellulose in
4. Reduction of cell wall stref

Owar-refting decrease Ihe fibre gf

dua to

(A) 3and4

(B)] 1and3

(C) 1and4

(D) 1and2

Triticale is a cross between
(A) Wheat and bariey

(B) Barey and rye

(C) Wheatand rye

(0} Wheat and oal

Total porosity of a soll
1.325 g/cc B.D. and 2.65 g/ce
(B.D. : Bulk Density, P.D. . H
Density)

(A) 30%
(C) 50%

{B) 40%
(O} 60%
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(B.D. : Bulk Density, P.D. : Particie
Density}

(A} 30% (B) 40%

(C) 50% (D) B0%
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10.

i

12

A

In order to assess the immediate
fertility level ol a given soil for
potassium, which one of the following
forms of potassium present in soil
would one test for 7

(A) Total K

(B} Exchangeable K
(C) Water soluble K
(D) K held in the silt

The optimum cardinal temperafure
points for germination of rice seeds
are

(A} 18-20°C
(B) 20-22°C
(CG) 30-32°C
(0} 37-39°C

Which one of the lollowing soils is
best for vegatable cultivation ?

{A) Sandy

(B} Sandy loam

() Clay loam

(D) Clay

In relation to crop rotation which one
of the following statements is

incomect 7
(A} Legume may be followed by
non-fegume

(B} Vegetlable susceptible to a
particular pest should be
followed by a resistant one

(C) Heavy feeders should be
followad by low feaders

(O} Deep rooted crop should be
followed by same type of crop

Latest Sarkari Jobs, Govt Exam Results,
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(A)
{B)
(C)

(D)

(A}
(B)
(C)
(D)

1.

(B)
(C)
(B}

13. Which oneof the following exitens
pregrammes linked farm plan W
credit for farmers ?

14. The velume (in litres) of one o
flow of water In an hour is

15. Consider the following state
Relay cropping implies

Integrated Rural Developm
Frogramme

Community Development
Programme

Intenzive Agricultural
Development Programme

Etawah Pilot Project

26x 108
3.6x 108
4.6x 100
56x 10°

Sowing of second crop whe
first crops has attained mal
and is nearing harvest.
A situation where two of
crops occupy a habital
spatial annidation '
Overlapping of a part of i
gpan, of the two crops w
any competition of the &
stalements

1,2 and 3 are corract
1 and 2 are comect

2 and 3 correct

1 and 3 are correct
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(8) 20-22°C
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16, Imperala cyfindrical s associated with 2(). Essential elements are those

- (A) Sugar beel (A} Which could be replaced
(B) Tea other elements with si
properies
(5, e (B] Which are required In &
(P} Lstuen quantities

(CY Whose deficiency we

17. Where adequate irrigation watar IS prevent the completion of pl

avallable four to six irrigations are

life cycle
applied to the wheal crop. WhI.EI'I. of (D) Which would promote gl
the following stages of growth is the growth
first irrigation recommended 7
(A) Crown-root initiation siage 21. Maolybdenum is required by pl
(B) Tillering stage becausa it is a cofactor for
(G} Critical stage of growth (A) Cytochrome Oxidase
i (D) Flowering siags (B) Nitrate reductase
(C) Nitrite reductase
18. Spreading vaneties of groundnut are (D) Phosphalase
preferred in areas receiving lale rains |
5 iy the Kharif season, because 22, Khaira disease ol rice caf
controfied by spraying

(A} They are of longer duration

(B) Theirwater requiremants are high
6. (C) Their seed is dormant

(D) Their seed is bald

(A) Copper sulphate

(B) Manganese sulphate
(C) Borax

(DY Zinc sulphate

7. 18. In which of following chromosomes 23, The basic unitof development
replicates only once, whiie the nucleus the Integrated Rurai Develog
divide twice ? Programme is.a
(A)  Mitosis (A} Distnct

= (B] Mieosis (B) Community devalopmentl
(C) Cell division (C) Village
(D) Karyokinesis (D) Family

A &
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24,

25.

27.

Ak

Which test is used for testing
“Goodness of fit" ?

(A) T-test
(B) F-test

(C) Chi-squars lesl
(D) Both (A) and (C)

Who produced the first artificial
hybrids in plants 7

{A) Thomas Fairchild
(B} Camerarious

(C) Strausberger

{0) Linnaeus

Crop logging is a method of

(A)  Sail tertility evaluation

(B) Plant analysis lor assessing
requirement of nutrients for crop
production

(C) Assessing crop damage

(D} Testing suitability of fertilizers

The neutralizing values of the following

liming materals are such that

(A) CaO = Ca(OH}, > CaCO, >
CaMg (CO.),

(B) CaO-=Ca(OH),>CaMg (CO4),
> E-EECJE_

(C) Ca(OH), > CaO > CaMg (CO,).
> GaEDa

(D} CaCO,; > Cal = Ca(OH), =
CaMg (CO,),

Latest Sarkari Jobs, Govt Exam Results, m -
Vacancies and updates on one click
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28.

29.

The nitrogenous fertilizer of ch
leais

(A} Calcium ammonium nitr:
(B) Urea

(C)  Ammonium sulphate
(D)  Ammonium nitrate

In wheat, seminal rools

(A) Induce extra strength ag
lodging

(B) Are responsible for noure
the planis during early stag
the crop

(C) Take care ol the pianis dl
the later stages of the cropl

(D) Appear during the veg :
phase of the crop

Match List | {crop) with List 1| jopt
time of sowing in Morth Indiaj
salect the comect answer usi
codes given balow the lists

List-1 List—I1
a Cotion 1. Firstfortn
of Novem
b. Barley 2. Second
fortnight of
Cctober
c. Gram 4. Whole of I
month of
d. Groundnut 4. Firstf
July
Codes :

(A) a=-3,b-1,c-4.d-2
(B) a=-3,b-1,c-2,d-4
(C) a—1,b-3,c-2.d-4
(B) a-1,b=-3,c-4,d-2
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(B) CaO>Ca (OH), > CaMg (COy),
- Eﬂcﬂg
" (0) Ga(OH),>Ca0>CaMg (CO);
> EHGDE

(D) CaCO,> CaO > Ca(OH), >
CaMg (COg),
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30
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(C) FEiamahe

(D) SR
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b. el 2. s o T
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e :

(A) a-3,b=-1,c—-4,d-2
(B) a-3.b-1,¢c-2,d-4
iC) a-1,b-3,c-2,d-4
D) a=1,b-3,c-4,d-2
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33.

Which one of the following is a pair
of pre-emergence herbicides 7

(A} Paraguat and butachior

{B] 2,4-dand thiohencarb

(C) Dalapon and Triazine

(D} Fluchloralin and pandimethalin

Which one of the following minerals
is least weatherable in soll 7

(A} Oliving
(B8) Cuanz
(C) Calcite
(D) Biotita

Match List | (Microbial reactions) with
List Il {Soil organisms) and select the
comect answer using the codes given
below the lists.

List=I| List—1I

a. Sulphate 1. Thichacilus
reduction

b, Sulphate 2. Desulfotomaculum
oxidation

e  Mitrita 3. Rhodospirilium
oxidation

d. Nitrogen 4. Nitrobacter
fixation

Codes :

(A) a-1,b-2c-3,d-4
B) a-2.b-1,c~4,d=-3
C) a-2.b-1,c-3,d-4
(D) a=1,b-2,¢c-4,d-3

34.

a7,

Entry of potassium ions nto ool
In soils having a low potassium
content in the soil_ is mediated thg
(A} lon exchange mechanism
(B) Mass flow phenomeanon
{C) Donnan equilibrium proces
(D) Utilization of metabolic endl

Al present, the farming system ol
has become

(A) Export onented

(B) Technology onented
(C) Market oriented

(D) Domestic nead orented

Which one of the lollowing spé
belongs to pop maiza 7
(A) Everta (8)
(C) Indurata (D)

.ﬁ.myia E:
Cerating

Which ot the following pain
common nama and scientific n
are correctly maiched 7

1. Proso millet —  Panicum
(Chana) miliace
2. Kodo millet — Paspalus

scorioul
3, Malian millet - Panicu

antidotal

Eleucing
Coracans

4, Finger millet -

Select the correct answer using
codes given below :
Codes :

(A) 1,2and3 (B) 1,3and
(C) 1,2andd4 (D) 2,3and

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click
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a-1,b-2,¢c-3,d-4
a-2,b-1,c-4,d-3
a-2,b-1,¢c-3,d-4
a-1,b-2c-4,d-3 J
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A ERTE

2 HEE i
AT FHA1 6 3

:

Tt
TR
Hiagetan
SIEET]
r=faTE
Bk G
Eauric)
T2 %1 HEEa] © WEl I e

(A) 1,233 (B) 1,33R4
() 1,234 (D) 2.33N4
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3, e it
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38. Out of the following which is the
largest export commodity in India 7

(A) Tea
(B) Pepper
(C) Sugar
(D) Jute

39. lithe Land Utilization Index (LUI) of a
crop is 0.50, then the durafion of thal
crop will be

(A} 183 days
(B) 172 days
(C) 200 days
(D) 135 days

40. It a farmer praclices "Sugarcane-
Cotion-Wheat", the cropping intensity
at his farm will be

(A) 100%
(B) 150%
(C) 200%
(D) 300%

41. For getting 10% advanlage, the LER
should be

(A} 1.00

(B) 0.90

{€) 1.10

(D} 110
A*
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42. Soil with high pH are generally

45.

deficiant In

(A} Znand Mn
(B) BandFe
({C) CuandMo
{0} Caand Mg

Which cne of the following p
nutrients s useful In INCres
resistance 10 diseases and i

pasts 7
(A) Calcium
(B) Phosphorus

(C) Nilrogen
(D) Potassium

‘Sead plot technique’ is follows
{A) Wheaat

(B) Paddy
(C) Potato
(D) Bajra

Which one of the following isag
retardant 7 '

(&) 2.4,5T
(B) Cycocsi
(C) CEPA
(B) TIBA

Central Soil Salinity Res
Institule is located at

(A} Jodhpur
(B} Karmal

{C) Dehradoon
{D) Hyderabad
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38, T A v 1 v w2 42, I pH FUE G WIS #
&7 wift w2 |
(A) = (4) Zn 31T Mn
o (B) BahFe 3
9 (© CusitMo ',-
[C) TR (D) Ca3fMg 11
]
(D) wewd 43, R aEEE T A I P '
| Tt aftt 1 A i v
3. U HEA ) T g (LU fem, o @ 7
ufé 0,50 81, 7t 24 v £ sty Enf (A) hicem
(&) 183 (B) FEERE
(C) M
B 172f= gt
(€) 200fm : 1 } , ;
D) 1250 44, ;Iizmaa;ﬂaﬁ #_ Huka
, ()
o e A | 0 -y B) W
WA FA R, A IWE 0w "
W o AT B @),
(D) ==
(A) 100%
B 150% 45, T4 FHE! HEHm AfEd R 7
— (A) 24,5T
(B) TR
(B) 300% (C} CEPA
(D) TIBA
41, 10% I wrw #a & fou LER € S
B 46. ﬁm%mwm_
|
A) 1.00
: & | (A) =R
| | fﬂ} 0.80 ) T
| (C) 1.10 (C) =

| o) 110 (D) BT
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a7

48

49,

A*

Parasitic weed in Sorghum

(A}
(B}
(C)
(D)

Orabanche
Cascula
Striga

Phalarns minor

Pungency in mustard oil is caused by

(Al
(B)
(C)
(D)

Aming acid
Erusic acid
Glucosilates

None of thess

The plants growing in shady places
adopt themselves by having following
maodification for more efficiant carbon
assimilation.

(A)
(B}
(C)
(D)

Leaves becoma broadar
Leaves become narmowar
Stem s madified into thorn

Leaves become leathery

Under T and V system who is mainly
responsible to make regular contact
with farmars ?

(A)
(B)
(C)
(D)

Dy. Director (Ext.)
Kisan Sahayak
sSDO

BDO

Latest Sarkari Jobs, Govt Exam Results,
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52,

54

Foundation seed is producedy
(A) MNucleus seed
(B) Breedersead
(C)
(D} Carified seed

Quality seed

'Diara’ lands are
(A)
(B)
(C)
D)

Areas flooded Dy sea
Areas created by sand
Areas on both sides ol

Areas |located on eidh
rver which get flooded &

Need based and skill §
vocalional training to p
tarmers and employed o
parsonnel is provided thig

(A)
(B)
()
(D)

Tramning visit
Krishi Vigyan Kendm
National Demonsiral

Lab io Land Pro.

Albert Mayer is the name &
(A}
=¥
{C)
(D}

Etawah Pilot Projac
Milokhar Davelop
Farraka Developms

Shantiniketan
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(B) =REEH
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(D) et

(A) A I
(B) THIEE A

(C) T
(D) = @ =TS o A

: wnmﬁmaﬁmﬁﬁﬁmﬁw
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(A) T ST T R
(B) T HEO R
() o Eefir St i = w8
(D) R e T 8

Hd T & = weE; e g 7
(A) EETEE FEET (Ext)

(B) T HEEE

(C) SDO

(D} BDO
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55.

56,

7.

The objective of TRYSEM is to
provide technical skills to the rural
youth from families below the poverty
line. The target group comprises rural
youth betweean the ages of

(A) 20 and 25
(B) 18 and 35
(C} 14 and 35
(D) 14 and 30

The paid-out costs of a farmeris Rs. 500
and fixed costs is Rs, 250. If the gross
retiims from farm business is Rs. 3, 700
the capital lurn over would be

(A} 17.42
(B) 9.80
(C) 4.93
(D) 3.33

in the short run, Average Cost,
Average Varable Cost and Marginal
Cost curves are ‘U shaped due o the
operation of

(A) Law of equimarginal returns

(B) Substitution between two factor
inputs

(C) Law of variable proportion
(D} Time companson principle

The term "operational holding reters
to the

(A) Land area owned by a farmer

(B} Cropped area cultivated by a
fanmmer

(C) Net land area cultivaled by a
farmer

(D) Land area leaszed in by a farmer

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click

59. Match List | with List || and selad
correct answer using the codes
bBelow the lists

Listl Listh
a.  Minimum 1. Famag

Support Price
b. Re-finance 2. Govl. g
c. Price taker 3. NABAS
d. Transportation 4. Time 4
g. Storage 5. Spacey
Codes :

(A} a-2,b-3,¢c-1,d-54
B) a-2,b-3,¢-5d-1.8
(C}) a-3,b-2,c-1,d-48
(D) a-3,b-2,¢c-5d-1.8

60. When marginal product is ind
at increasing rate then

(A} Total product increasi
decreasmng rate

(B) Tolal product ncreass
increasing rate

(C) Average product decreas
(D} None of the above

61. Whenanewvanaty of crop s
(A) Partial budgeling is reg
(B) Full budgeting is a must
(C) MNo budgeting is needed
(D) Only planning is neesded

62, Lab to Land Programme was sk
(A) Gowvi. of India
(B8) Gowi.ofUP
(C) Smt. Indira Gandhi
(D) ICAR




A FI9E W2 HET TRYSEM &1
e O AR e e eE D o B
EiCE ey

(A) 20325
(B) 183 35
(C) 14 3 35
(D) 14 3l 30

5, Tl %1 T2 ™™ = 500 ¥ R AW

il =1 250 ¥4 § | ILAF SEER T
el 7 3,700 79 E, A df = =mEEn
i
(A)
(B)
(C)
(L)

17.42
9.80
4.93
3.33

&7 wHifgamata A sfigaa i, st

ufeEreafie i 3 diin e s
EUTE o S |
(A TR eeE R R

(B) =1 e Tiiame o wid T
(C) it T e

(D) #wageA e

(A) =T 1 & T s

(B) i & o= Feawi g E

(C) =fs %1 g e el amo wen
TE

(D) =it w1 T & o i
ETETAT B
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59, wem g T g # femn s g

& i 58 4 52 & geEe d 9e 3w

Tfm

et -1 -1

a. FmEAudAEm 1. fEam

b, THfEw 2, WA T

c B THETE] 3. NABARD

d. HE HEA 4. woa FfRm

e HIE T 5, wr fafam

forwea :

B1.

(A) a-2,b-3,¢-1.d-5,86~4
(B) a—2 b—3,c—5d—1,e—4
(C) a-3,b-2,c—1,d-4,e-5
(D) a-3,b-2,c=5,d-1,6—4

T = 1 e 3 5 e

Bl ®, 7

(A) Tz = W F9 Ieue i =l
Bt &

(B) wetadl 21 3 el Iedg 1 W)
Gk

(C) mﬁqmaﬁmﬂﬂﬂ?ﬁ%
(0) 8 & =R oft e

gﬂ?ﬁ#qﬁfﬂﬂmﬂmmm
(A} HTTET: STV Y ST R
(B) T AT o SR mil
(C) TR =) SRR A0

(D) e Fre H T 2

"Ha 3 e’ i ks
fem |

(A) ST AR

(B) IR Wad FEN

(C) oot e e

(D) ICAR
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§3. Line passing through the least cosl 68. Which of the following is presd
paints in the isoquants map is called an aulotetraplod 7
(A) Isociine (A) Lucerne and paanut
(B} Hidge Line (B) Potato and peanul
(C) Expansion path {C) Puolatoand coffee
(D) Isoquant curve (D)  Allof the above
64. The globe mutant of Datura 69. Doubla Steel and Tetra Pelf
stramonium described by Blakeslee auto-tetraploid commercial
was which of the following 7 of which crop 7
(A) Autopolyploid (A) Cabbage (B) Rye
(B) Trisomic (C) Sorghum (D) Bens
©) A”ﬂp!}l}fp!ﬂld 70. During 1927, intargenerid
B Tetrsomic Raphano-brassica waé
developed by which of the g
4 65. Who produced the first exparimental sriantists 7
autotetraploid (A) Rimpau
(A) Sears (B) Karpachenko
{B) Hugo de Vries (C) Lysenko
(C) Winkler (D) Okamura
5. (D) Blakeslee
71. Among the given scieniig
B6. Mullisomics are represented by which postulated thal allopolypl
of the following ? important in evolution 7
6. (A) 2n+2 (A) Stebbins
B) 2n-1+1 (B) Winge
(C) 2n-2 (C) Darwin
8 {D) 2n-1-1 (D} Hugo de Vries
67. A triple monosomic can be 72. Which of the following aret
represanted by which of the following 7 species of Brassica juncea]
B. (A) 22-2-1 (A} B. oleracea and B. cal
| (B) 2n-1-2 (B) B. nigra and B. camp
| () 2n-1-1-1 (C) B.napus and B.olers
! (D) 2n-3 (D) B.campestris and B,
A* -20-
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g8, =0 T FiFE] HiZRTrEAEE % B 4
e # 2
(A) A S g
(B) ey AR
(C) e sETH
(D) FHEE T

B9, ~=Ee w=iw 3 dreE B wEe &

) mEsh (B
€ #em (D) Wi

70. #1927 % A T AwPE oo e
Aeifees e tHET-wfi & et an
iEEAT-GRE T IRICie i

(A) T
(B] HTE=RI
(C) T~
(D) s

T

(A) . aaﬁﬂﬁmamﬂ AT
(8) =i B s, Foitea
(Cy . 7om afwsh, sierdem
(D) =it Seifeg s, seaiE
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73. Which of the following scientisis 77, \Which of the following is the gi

_!l > | independently rediscovered the salfed progeny of a singk
Mendel's laws 7 fertilizing, homozygous plant

(A) Hugo de Vries, W, Bateson and (&) Clone
R.C. Punnett (B} Pureline
(B) Carl Correns, T.H. Morgan and (C) Inbred
| H.J, Muller D) Hybrid
|I (C} Eric von Tschermak, Joseph
Koelreuter and Charles Darwin 78, Which of the following oe
(D) Hugo de Vries, Carl Corens and segregation 7

(A) Two alleles of a gene 8
during gamete formatiof

74. Why Mendel selected pea for his two types of gametes in
study 7 (B) Productionof1:2:1 (8
ratio in Fy

Eric von Tschamak

(4) Due to larger size of flower

$ {8) Due to short span of life-cycle (C) Fll:_:dl_ml;:nn of3:1p
(G} Due to self-pollinaled nature of ralio in Fa |

the crop (D) Productionofl1:2:1§
and 3 : 1 phenotypic ral

(D) Allof the above

9 . - , 79. Bread wheat (Triticum aesk
75. Mendel's laws of inheritance operate &2 Chromossring: How il

during which of the following 7 groups does it have ?

(A} Gamete formation (A) 28
5. (B) Phenotype developmant @ 2

(C) Fertilization (C) 42

(D) Embryo development D) 14
5 76. An F, of a tribybrid cross will give 80. Interference may be pd

which of the following phenotypic negative. Negative inta !

ratios 7 found in which of the folloy
8. (A} 8:3:3:1 (8) Animals

B 1:4:6:421 (B} Plants

(C) 27:9:9:9:3:3:3:1 (C} Bacteria

(0 27:8:9:3:3:1 (D) Viruses

A*
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76, e o faar Smmmie & aftaee F

Tz & fgr= =1 o & T Sl 3

THEE ¥ 1 ;G4 7

(A) E-E-FE, EeEY WA 3l
=, Ht. T

(B) = S, 71, v, Wnia el v,
o, gE

(C) ufte siv e, FHE R
¥ = =i

(D) TEM-2-HaE, Fe Fe i
a4 Sl

Wee 3 39 areqe F fern wen 1 =

7

(&) I T SR H A5 EH &

(B) Siaras o a0 g9 F FEm

(C) o e e s -
B4 & e

(D) IFEmad

A = | FE A e v

(A} 8:3:3:1

(B) 1:4:6:4:1

{C) 27:9:98:9:3:3:3:1
B) 27:9:9:8:3:1
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(A) Fo
(B) FmtEn

(C) #Ha: Wam
(D) ®He

78. 7 O e e e AT # 7

(A) 1:1 3m o B g
T A H U W % 9 g
o ot e o & S e
EMTE

(B) F,H1:2:1dkenls s
TR

(C) F, ¥ 3: 1 St s =
T

(D) F,H1:2:1Sfresfem s
AT ST & 30T

Wt 118 (ergfeam ardam) & 42 R
;T o 30 e e R R R 7
(A) 28
(B) 21
(C) 42
(D) 14
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} a1.
i
5
8.
7. 8.
8.
|
A%

—

Column A contains various theories
related 1o chiasma formation and
crossing over, while column B lists
names of the scientists who onginally
proposed the different theorles, Match
the columns A and B carefully and
select the correct option from those
fisted below :

Column A Column B

a. Breakage and |} Sharp
reunion theory (1934)

b. Chiasma type I} Darlington
theory (1832}

¢. Copy choice  lll} Janssen
theory (19089)

d. Classical theory IV) Beliing (1933)

Options

(A} a-l, b-ll, ¢, gV

(B) a-ll, b, ¢V, d-

(C) alll, b1V, el, dll

(D} &V, b-l, c-ll, d-lll

Classical theory of chiasma formation
and crossing over is also called

which of the tollowing 7
(Al
(B
(©)
()

Two-plane theory

Breakage and reunion theory
One-plane theary

Copy choice theory

Latest Sarkari Jobs, Govt Exam Results,
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83.

85,

Which of the following is not ¢
about chiasma type theory 7

(A} Chiasmata are produced d
Crassing over

(B} Crossing over occurs o
pachylene

(C) Insome regions of the by
nonsister chromatids
asgociated with sach o

(D) Each chiasma is the resi

crossing over avent 80
1 : 1 ratio is expected b
the frequencies of chiasn
Crossing over

Which af the following Is nol
about copy choice theory 7
{A) This theory was prnp
Darlington in 1933
Genes present ina chiom
are the first 1o be rephc
Alter replication,
subsaquently )
connacted with each
through the synthasi§
remaining parts
chromosomes
The homologous chrod
arae coiled with aach ¢
give rise to cross
recombinant chromatid

(8]

(G

(D)

Which is the most appropnals
role of chiasmata in crossing
(A) result of crossing ovef
(B) cause of crossing ov
(C) uncerain role
(D} not retated lo crosss
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(1934)
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(1909)
d Fhmmfg= vy A
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Tawey

(A) ad, b-ll, cil, d-IV
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(Cy a-ll, bV, e, d-l
(D) a-Iv, b-l, c-ll, d-lll
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(B) ra-we sihgrEtE e

(C) uw-ETR R
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83. =aead s o Fagra e A el A

A1 HE AR E 7
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T 1 T A R

(B) T % S s e

(C) Tz ol % g0 gaw 8 477 fe
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86.

BB,

80.

Ax

Horned condition in sheep is an
example of which of the following ?
(A} Sex-limited trail

(B) Sex-influsnced trait

(C) Sex linkage

(D) Horandric trait

Which of the following is correct about
sex determination in animals ?

(A) Inorthoplera, malas are XX

(B) Inhousefly, males are XY

(C} XXY Drosophiis (2n) will be male
(D) XXY humans will be female

A lady suftering from Tumer's
syndrome may have which oi the
foliowing chromosomes 7

(&) OY
(B) XX
(C) XO
(D) XXY

First KVK was astablished in
(A) Paninagar, 1964

(B} Pondicherry, 1974

(C} Channal, 1968

(D) Mew Delhi, 1957

Planting of the trees across the wind
is called

(A) Wind breaks
(B) Shelter belts
(C) Hedge

(DY Bordercrop

91. Mealting point of water in Kl
(A] 100°K
B) 273K
(C) 25°K
(D) 210°K

82.  Wind velocity i1s measured
(A) Wind vane
(B) Anemometer
(C) Hygrometar
(D) Psychromatar

893, Father of agronomy
(A) Jetratull
(B) Peter Derzsengi
({C) Leibeg
() None

94, Cyclones generally origi

warmer than
(A) 27°C (B) &
(C) 25°C (D)

g5. According to Planning @
India ks dividend into ha
climatic zones 7

(A) 10 ®) 3
(C) 25 (D)

96. Short duration annual @
regions are called

(A) Ephemarals
(B8) XHerophyles

(C) Sciophytes

(D) Careals

-26-
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HAETE T

(A)  FAireR-afti wem
(B) - w
(C) i wEafa

(D) FTietigeh eEm

g7, wiftw o S Fraton & weaea 6 o
AR aE 2 7

(A) SArETC A XX B 2
(B) wREH XY B B

(C) XXY gRifEws (2n) SR
(D) XXY mE!H =i gt

B8. T Hiwe = o e A g, @
7t it o ¥, 3 Fresferfian A e
7
(A} OY
(B) XX
{C) XO
(D) XXY

B9 T KVK it wartfire s w0 |
(A) T 1964
(B) gt 1974
(C) =4% 1960
(D) =4 fasstt 1957

80, WA SHEOR O TEn
FEATTE |

(A) TETAS SR
(B) I
(C) =
(D) = e

91.

83.

96.
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Ffeas e d orh @ e
(A) 100°K
(B) 273K
(C) 25°K
(D) 210K
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(A) Fr=Ee
(B) Ul
(C) wmmRfiE
(D) wTEREE

1 e o vt = foan @
(A) TG

(B) e s

(C) wiEm

(D) THEFE o =
T hard
THTH T AT E |
(Ay 27°C

{C) 25°C

AT HAEE |

8t 7

(B) 37°C

(D) 20°C
ST AT o5 ST A 1 e
TN e & % w9 A e aar e 7
(A} 10 (B) 20

{G) 25 (D) 15

i A3 5 o vty il i
FEAdE |

(A) TS

(B) TEHIFEH

(C) wEaEEH

(D) TEwEE
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a7.

98.

a9

100,

101

102.

A

MNon tradiion area of wheat growing
region Is

{A) Punjab
(B) Haryana
(C) West Bengal

(D) Andhra Pradash

Presence of B line in A line seed
praduchion plol of maiza is

(A} Offtype

(B) Maintainer line
(C) Pollen shedder
(D) Shedding tassel

Amount of rain fall received in a day
is called rainy day

(A) =25mm (B) >2.5mm
(C] 5mm (D) =3 mm
Plastoeyanin contains which
elements 7

(A} Fe (B) Cu

(C} Co 0y Mg

Awns are absent in
{A) Japonica

(B) Indica

(C) Javonica

(D) (B} and (C)

Recently sequenced crop is

(A) Cow pea

(B) Bengal gram
(C) Redgram
(D) Pea

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click

104

107

103.

1085.

106.

Larges! element in industrial g
{A)
(B}
(<)
(D)

Manganese
Iron

Copper
Magnesium

Recently identified gene
enhancemeant In nce by IFRL

(A)
\8)
()
(L

spike
rhid
rhts
Woo

Berseem is a fodder crf
recommended for sow
months of

(A)  March-Aprnil
(B} June-July
({C) October-November

(D) January-February

LITL stands for

(A} Qualitative Tralt Loc
(B) Cuantitative Trait Log
(C)  Quanium yield

(2} (A)and (B)

Syslem of Rice Intensifig
was developed ai

(A)
()
(C)
{8}

lsrael
Madagaskar
China
Sudan



§7. T8I S &6 2
' (A)

1

CAEEN] BT =, A
1 A FEA R

() <25mm (B) >2.5mm
*IC) Smm (D) =3mm
) P e SRR A EE ?

{A) Fe (B) Cu

IC) Co (L) Mg

01. i H e #

(A) HE

B) 3w

(C) sEtt

(D) (B) M (C)

102 wTEe ] S e B
(A} TR
(B) =AERE
(&) TeE
(D)
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104,

105,

106.

107,
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e e A arega wan A
(A) A

(B) T

(C) dmn

(D) feEm

IRRBI gr FHEE d fEn F EgE 3 F
ﬁqﬁﬁ#ﬂ‘mﬁrm 1 8 wE=T T R
G

(A) TEE
(B) rhtd
(C) rhid
(DY) woo

=ity =W e & 3 6w o
i R Ben=mn
2

(A) TTE-30e

(8) -
(C) SE--aat
(D) -

ERLS gl

(A) Qualitative Trait Loci
(B) Quantitative Trait Loci
(C) Quantum yield

(D) {A)and (B)

(SRI) frem 17 Ta 2 T
EEa T g |

(A) FEe

(B) TEIRET

(C) =m

(D) #HEH

— — —
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s 114, Harvestindex is a ratio of
: (A) Ca | p (A} Biological yield/Economi
(C) MNa D) k (B) Economic yield/BiologicH
(C) Economic yield + Biologics
(D) Economic yield - Biologica

108. Dafloculaton of soil caused by

109. MNumber of textural classes is

(ay 10
By 14 116, Fathar of milk revolution in Ing
cy 2 (A) Hargovind Khorana
{0y 12 (By Vergese W urein
(c) B.P.Fal
110. Parentmatenial of MO (Molybdenum) (D) None

(A Gibbsite

(B) Dolomite 116. Mendel also worked on

(C) Olivine {A) Hawk wead (heracium;

o (D) Cuartz (B) Honey bees
(C) Rajma

111, Carbon 1S5 an assential elemant for (D Al of these

plant growth, plams take it from

117. Science that deals with the

(A) Soil
5. (B) Wall.er insects
©) Air (A} Agronoimy
) Light (B} Entomology
(C) Ammal Husbandry
(D} Ecology

Rhodospifilum baciena fix nitrogen

6. 112,

phutnsw_.rmhmmaﬂy 5

(A} Aerobic 118, Aweedisa
7. (8] Facultative aerobic (A} Useless plant

(C) Anagrobic (B) Plant that grows whe

(D) Facultative anaarobe wanted

(C) Plant which kills insd

B. 113, Oplimum iatiool C:M:Pis (D) An unpalatable piat

| (A} 10 100 :1
i By 100: 10:1 118, Infiarescance of SUQar
(C) 100:100:1 (&) Arrow (B
oy 10:2:1 () Panicle (D) |

A
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108.

108,

0.

.

112,

£ 113,

1 ST 70 FAO

(A) Ca (B) p
(C) Na D) k

e foreh sl o TETT B
(A) 10
(B) 14
{C) 8
(o) 12

MO (FietaeTm) F1 fqF T B
(&) T

(B) w2

(C) sl

(D) #ERH

ﬁﬁﬁ;ﬂﬁ;‘gmmﬁﬂm
; & e
=

(A) o=

(B) ==

\C) =9

(D) W

rstfrriieay W= T g
gy i gH W R w0 2
(A) wifER

(B) TEReedE wifeE

(C) AR

(D) heddla s

C:N:P F1HaEH FqTM &
(A} 10:100:1

(8) 100:10:1

(C) 100:100:1

(D) 10:2:1
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HHE FITE HARHTH FAIE R |
(A R e anlds 3
By i 3/ <fafameia sme
(C) i e + afEmsiy e
(D) snfis 3eme - SEfEwEim T

T H g8 A HES Fif & e

(0) = & oft

rEAd  wdftsmEar e
(A) w7 e (ol fadiE)
(B) e

(C) T=mT

(D) oW

et w g w=eEe fe & seaas
FiFed &

(A) T

(B) Undreiet

(C) e emEt

(D) sreTsit

A 2l

(A) S

(B) W St =T wnEl oI E
(Cy iven =it =2 = =
(D) TR U

SEATEEN e R
(A}

(B) I

(G} THT==

(D) A= o
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120.

121

122.

123.

124,

Ax

Which of the following gases
contributes maximum to global
warming 7

(A) Methane
(B) CO,
(C) N0
(D} CFC

End product of glycolysis is
(&) Citnc acid

(B} Acelc acid

(C) Pyruvic acid

(D) Picric acid

The metal associated with
hemoglobin is

(A) Copper
(B) Sulfur
(C) lron

(D)  Nickel

Golden rice is a transgenic of rice nch in
{(A) Vitamin A

(B) Vitamin B

(C) Calcium

(D) Prote:n

Which among the lollowing crops is
an indicator plant for moisture stress 7

(&) Castor
(B} Dale palm
(C) Sunfiowar
(0} Maize

0 5 0 0 O

125, Conservation agriculture

(A) Minimum mechan
disturbance

(B} Soil cover with resids
(C) Crop diversification
(D) Allof these

126, Symptoms of Nitrogen
first appaar an

{A) Oilder leaves
(B) Younger leaves
(C) Whole plant

(D) Leaftips

127. El Nino is related to
(A) Forest
(B) Land
(C) Biodiversity
(D) Climale

128. Soil have highest wal
capacity
(A} Laterite soil
(B) Biack cotton soils
(C) Aluvial soil
0} Red soll

129, Acid soils are amended
(&) Gypsum
(B) Limse
(C) Sulphuric acd
(D) CaCl,

-x-
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120.

121,

122,

123.

124,

ot @ = g ailas avEE ¥
Aty A 33 7

(A) e

(8) CO,

(C) MO

(D} CFC

T TerHTE ] g 3 e g

TH © F19E B T6 24 & o
Herferw YT 7

(A) FF1

(B) =@

(C) ¥l

(D)
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126.

127.

128,

128.
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. it grEm g B
AR § |
(A) = =i gerEn
(B) = & fua
(C) T e
(D) It i

AL = 1 F T
T yEen feans qght 2 |
(A) T

(B) HemEH

(C) g
(D) T
El Nino
(A) 30T
(B)
(C) i afaem

(D) wETE
e i e g
aE= EA |

(A) wirtee] i

(B) ets ie qa

(C) o g

(D) e fag
A a1 )
e
(a) Foram
(B) =

(C) BFEH v

_ WHahm?)

_ avffRam

(D) CaCl,
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130

131.

132.

133

134.

Saline soils are raclaimed by
(A) Addition of gypsum

(B) Addition of lime

({C) Leaching of soluble salls
(D) Addition of pyrita

If the nutnant 1& immaobile in the soil
plant, the deficiency symptoms are

first obsarvad on

(A) Younger leaves
(B) Middle leaves
(C) Oider leaves
(D) Flowers

The dry ice is made of
(A] WNitrogen

(B Carbon dioxide
{C) Water and salt
(D) Helium

Aflatoxin is a serious problem in
(A} Tea

(B) Mango

(Cy  Groundnut

(0} Soybean

Maost harmful insect for cotton
(A) Jassids

{B) Pink ball warm

{C} Spotted ball work

(D) Termita

Latest Sarkari Jobs, Govt Exam Results,
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137

138

140

135.

136.

141,

RE| was astablished on

(A) 1968 (B) 1982
{C} 1995 (D) 1935
ANOVA technique was glive
(A) Karl Pearson

(B) Spearman

(C) R. A. Fisher

(D) None

The hrst commercial colio
released In India s

(A) Varatakshmi (B) Hyb
(C) Jayalakshmi (D) Hb
First All-India Co-ordinalad ®
Project started in crop

(A) Sorghum (B] Mai
(C) Rice (D) Cof
Harvest index word was gij
{A) Donald

(B) Hartan

(C) Leibig

(B} Nona

Tift-23 A 15 a MS source i}
(A) Pearl millet (B) Sa
(C) Ragi (D) FI'
Example for pseudocarnaal
{A) Foxtail millet

(B) Buck wheat

(C) Oat

(D) (A)and (B)




130.

131,

132.

133.

134

g E, # i

AT E |

(A)  stfafE frem

(B) i o

(C) Taem wam & fsndn
(D)  arfeifer g2

& e wrn file 9 8, 6w
FEameEs 0 wimdasy
Bl

(A) e T
(B) TEmTR
(C) R
(D) I

T =3
(A) g

(B) == ERulEs
(C) =& 3 &=
(D) #Hferm

W s i Ee
(4

(A) R
(B) 3™
(C) et
(D) Hig

Fma % fem wgn & el 22

(A) e
(B) T =mer it

(C) THies ae )
(D) MR

#wEE
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137.

138

138

140.

141.
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RBI i #mgan i g8 o |
(A) 1968 (B) 1982
(C) 1995 (D) 1935
ANOVA -1 =1 Al
(A) et fames
(B) wmda
(C) R.A ffm
(D) %75 & i oft =t
wid d fmifaa ween aifine #am
PRAER
(A) =i (B) =E#iEd
(C) vmasht (D) ueEi-g4
¥ A § vy wfiger wwEw gaithe
TR TR s g
(&) wom (B) wd
(C) =& (O}

WHE el HEEE e
mﬁmﬂmﬁﬁﬁ ik -
(A) EHwEE

(B) ®FH

(C) it

(D) T A FE ot 7

_ mmugEAEfFwo23AR
(A) whEe (B "ow
(C) it (D) ==a
Freamarms & for samom &

(A) wrFEeE fiee

(B) T

([C}) 3=

(D) (A) 3 (B)
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142

143,

144.

145.

146,

147,

148,

Latest Sarkari Jobs, Govt Exam Results,
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Water in solid form is called as
(A) Crystal (B) Dy ice
(C) Mist (0} loa

Genetic purity of a variety can be
controlied by

(A) GOT

(B) ODV Test

(C) Electrophoresis
(D) Al

Earth day is celebrated on
(A) April 22

(B) May 22

(C) June 22

(D) July 22

MNutrient responsible for stomatal
conductance in plants

(A) K (B) Mg
(C) P 0y N

Sorosis i frult type in the
(A) Jack (B) Litchi
(Cy Peach (D) Dales

Protein word was introduced by
(A} Naih

(B) Barbar

(C) Berzolius

(D} Mone

Total ATP synthesis in glycolysis is
{A] 4 (B) &
(C) 8 (D) 386

148,

150.

151,

152

152,

154,

155.

Photosynthetic Active Ra
{PAR) =

(A) 400- 700 nm
(8) 600700 nm
(C) 500 700 nm
(D) MNone

Light reaction/hill reachon i&
place in

(A) Grana

(B} Stroma

(C) Mitochondna
(D) All

Examplels for CAM pathw
(A) Pineapple (B) Op
(C) Agave (D) Ak

Water use elficiency
{A) CAM>C4=0C3
(B) CAM <C4>0C3
(C) CAM<C4<C
(D) None

Kranz anatomy 15 obsam
(A) C3 By @
(C) CAM (0

Harvest index in cereais
(A) 04-05 (B) 1
(C) 0.1—-05 (0 @

Whip tail of caulifiower a8
caused by deficiency ol

(A) Mo (B)
(C) Co (D)




142 H9 F9 4 I wEenal & |
(a) Frem (B) war
(C) 9 (D) =%

143, A diafEmfEas @
&1 3 foRa s WA 2 |
(A} GOT
(8) ODV Wi
(C) FerRI it
(D) =l

144, gt Fam a1 W A R
(A) @il 3
(B) w33
{C) FH3%
(D) e 23

a5, MidedigaiEme | e
o &
(A) K (B) Mg
C) P (O} N

WG, wET 0 HhE g R
(A) FeEe () el
(C) = (D) =

147. WA e ER R
LT |
(A) =T
(B) =R
(C) =afeEm
(D) 57 & = it =

148, ARG 0 FE ATP B 8
(A) 4 (B) &

. (C) 8 (D) 36
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154,
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R A e AT (PAR) =
(A) 400 - 700 nm

(B) B00-700nm

(C) 500 - 700 nm

(D) s A= it

vemufkem /weaim 0 4
Bl R |

(A) IO
8) =/

(C) wrEETg
(D) =i

CAM T e Iz s /2
(A) S (B) irgFEEn
) [ Dy =
e IT A

(A} CAM=C4>C3

(B) CAM<Cd>C3
(C) CAM<C4<C

(D) TR A =R f A
FERuuECCiREE cEa H
S A A R |

(A) C3

(B) C4

(C) CAM

(D) 30 80 o ==

ST T G HTE HEHT B

(A) 04-05 (B) 0.2-03
(C) 0.1-05 (D) 06-08
e AR e
o1 I o T AT S |

(A) Mo (B) Mg

(C) Co D N

|
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156. Hain beanng clouds is/are
(A) Cumulonimbus
(B) Cumulus
(C) Both (A) and (B)
(D) None

157. Chemical usad for cold cloud seeding
(A) Silver iodide
(B) Silver chloride
(C) Silver sulfide
(D) All

1568. Cuscuta is
(A) Total stern parasite
(BY Partial stem parasile
(C) Total oot parasite
(0} Partial root parasiia

159, is the basic unit of sociely
(A)  Family
(B) Vilage
(G} Panchayath
(0) Al

160. Ploidy level of endosperm
(A} 2n (B) 3n
(C) n (D) 4n

161. Verhcal movemeant of air is called
(A) Aircurrent (B) Wind
(C) Moving air (D) All

162, Sewvare drought when it is balow
{A) T5% (B) 50%
(C) 25% (D) 100%

Ax

163. ET is measured using
(A) Lysimeter
(8) Evapornmeter
(C) Tensiometer
(o) Al

164, Basalt is an example for
(A) lgneous rocks
(B) Sedimantary rocks
(C) Maetamorphic rocks
(D} MNone

165. Delerminalion of soil textums

(A Stokes law

(B} Bears law

(C) Lambers law
(D} Both (B) and (C)

186. _ soill are bes! S
dry land agriculture.

{A) Hed soils
(B) Black soils
(C] Laterite soil
(D) Laleritic soll

167 soils are ba
for rainfed agncuiiure.
(A} Hedsoils (B)
(C) Laterite sofl (D)

168. Flower does not open aid
self pollination is called

(a) Charmogamy
(B) Cleistogamy
(C) Geltonogamy
(0} Allogamy

Latest Sarkari Jobs, Govt Exam Results, m
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156.

157,

158,

189,

161.

162,

A*

anfen = T A R R
(A) T

(B) wHEH

(C) (A) N (B) T
(O) T8 | HE o

B = T O S e e
(A) Toea smaEEE

By Torm wieE

(C) Thrat wemgs

(D) #dl

Loz Tk

(&) et g W]
(B) =TT WE YCETE
(C) & o Waid
D) gy W )

waTE ] AT 3 8
(A) ufEm
(B) i
(C) T
(D) =

vty = v R
(A) 2n (B) 3n
C) n (D) 4n

gmdisaEtmn_ wwedi

(A) FTEEEE  (B) WA
(C) wedtemr (D) ol

WHE AFE A e H
CiE

(A) 75%
(C) 25%

(B) 50%
(D) 100%

-39
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ET® o1 39607 ik A A e |
(A) TEET TR

(B) AT

() gt

(D) &

e femaEm R
(A) T e

@) SEdhEEe
(C) e el
(D) e & = o e
e FEe = o
(a) wre fem

(B) = Frem

(C) vy

(D) (B)3f (C) I

_ rnymE R
fere TwpRm & )

(A) SETE

(B) =T aT

(C) e

(D) e

qaT FETTA HN Hie

HEwa e |

TR |
(A FEHE  (B) FEE
(C) snfEfiqa (D) e

= T EEE i e ] o Eil
R 1 2, el v w1 e §
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L [-1- TR ——— discoverad melens of cell. 175. Highly weathered soils are
(A) Fober Hook (&) Histosols
(B) Morgan B} Mollisole
(C) Charies Darwin (C) Oxysois
(D) Entisols

(D) Robert Brown

g an example far Gy 178, _isthe firstcl

| e
ype S, introduce zero tiliage.
(A} Maize (B} Sorghum ) America
(Cy Rice (D) Sugarcane @ India
471, Chromosomes are best observed (C) Philiphines
during ———— phase (o) Australia
(A Mitosis
(B) Meiosis 177. Dapog system of paddy 1 L
(C) Metaphase was adopted from
(D) None of these (A) Amernca
(B) India

(C) Philiphines

go is a cross
(D) Australia

172. Ralna variety of man

: woodot___—and— _—
(A} Alphanso and Banganapalli
(B) Meelam and Dashera 78, Soils group having highes
(C) MNeeiam and Alphanso rate is
E‘ (D) None of these (A) Alfisols
(B) Verlisols

(C) Aridisols

173, Thalwan red ladly Is a variety of
(D) Onysols

(&) Mango (B} FPapaya

7.
(G} Banana (D) Strawberry
179, Mational Seed Corpol f
{74. Dommancy s produced Dy established In
= (A)  Auxins (A) 1963
(B) Cytokenins (B) 1964
(C) Gibberelhins (Cy 1973
|I (D) 1974

(D) Abscisic acid

\LIc:est Sgrkari Jobs, Govt Exam Results
cancies and updates on one click ' m



b 170.

171.

72,

173,

o e i e
il
() TEIET
(8) |
(c) wed mfda
(D) T aEA
C, Forg ol & fomm
TETRIOIE |
(A) TS (B) i
(L) e (D) 34
. %A A w A
e s el usa ¥ |
(a) e
(B) TRifem
(C) werha
(D) 39 & =g off =t
e o 3w i ¥
FHEAEE |
(A)  SIEHTET ST AT
(B) fitem afw g
(C) i 3 SeRrET
(D) s & = oft el
#HH i2 wEl =R
(A) =MW (B) od
(C) enl (D) ww
AR AIOERIE
(A) ST
(B) TR
(C) Te=rfee
(D) veHTERE
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175.

178.

177,

178.
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(&) TEEE
(B) wetEie
(C) =iFmwg
(D) UM

Y[ H g w5 ity
FAHaT Tae e ¥ |

(A) sftE
(B) ¥HA

(C) Thfermm=a
(D) wwfern

qI R EfE 2l el
N 1 -k =i 6 o
(&) iR

(B) WA

(C) TR

(D) =R

il 35 e 3 TE-ETE Yel e
(A) SRR
(B) =EA
(C) sftfearen
(D) stwes

T =t g = g
HERE |

(A) 1983

(B} 1864

{c) 1973

(D) 1974

T —

[
r
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180, In water logged sails 185 is need for
N-fertilizer is best suitable, warm clouds.
(A} Urea (&) Silver iodide
(B} DAP (B) Sodium chionde
(C) Ammonium sulphate (C) Potassium iodide
(D) Ammonium nitrate (D) MNone of these
181. Correlation co-afficient wvaries 186. The word monsoon is de
betwean _ language.
(A} Oto? (A) Sanskn
(B) —1to+] (B) Arabic
(C) -00to+00 (C) Spanish
(D) Oto-1 (D) Greek
182, _ is regarded as best of all 187. The term enzyme was
el i (A) Louis Pasteur
(A)  Arthmetic mean (B) Khuming
(B} Geometnc mean (C) Fleming
(C) Harmonic mean (D) Robert Koch
(D} Al of these
188. Genes responsible o
183. Biack hearl of Potalo is due Io inheritance are presant i
deficiency of (A} Cytoplasm
{A} Boron B) Mucleus
(B) Magnaesium (C) Both
(C) Omygen (D) None
(0} Calcium
189. The team Green rev
184. Redness of apple is due 10 coined by
(A) Antho cyanine (A) William Gande
(B} Lycopine (B) M.S. Swaminath
(C) Capyanthin {C) Morgan
(0} Carotana (D) E. Gris
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180,

191.

192.

193

184,

185.

Onion is a modified form of
{A) Root

(B) Stem

(C) Leaf

(D) Flower

Carbon seguestration can be
increased through

(A} Zero tillage

(B) Conventional tillage
(C} Primary tillage

(D} Secondary tilage

Kaolinate is a _
(A) 1:1

B} 2:1:1
(C) 2

(D) 2r

type mineral.

2

el

IFOAM.-head quarer localed at
(A) Switzerland

{B) United Kingdom

(C) Garmany
(D) Haly

Tetrazolium lest is done for
(A) Viability

(B) Vigor

(C) Germination

(D) Both (A)and (C)

Krebs cycle takes place in
{A) Mitochondria

(B) Golgi complex

(C) Chioroplast

(D) Cell wall

186,

187.

198.

199,

200.
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C : N ratio of mineral soil
(A} 20:1
(B) 15:1
() 10:1
Dy 25:1

Nutrient mobility cof
proposed by
(A) Leibig
(B) Donald
(C) Amon
(D) Bray

Origin of soyabean is
(A} America

(B) China

(C) India

(D) Russia

Which nutnents are od
nitrogenase enzyme ?
(A) Mnand Mg

(B) SandB

(C) Caand Mg

(D) Feand Mo

Leaf Area Index is givel

(A) Watson
(B) Bnocks

(C) Meclay
(D) Wileox
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190. == calins ko
(&) B
(B) ®Z
(C) =
(L) 14

191, e T W B S
AN AFATE |

(A) TS

(B) WD AT
(C) wreies <A
(D) ol st

192, FTATAR T A
(A} 1:1
B 2:1:1
(C) 2:2
D} 1:2:2

193, IFOAMETTIW FEE  H#)
(A) TeEmEE
(B) FEeE fEwEn
(C) =
(D) =0
194. % foru Zgmiforam witen
AT & |
(A) ST T
(8) i
(C) ¥Fm
(D) &t (A) 30 (C)
185, FEH TF R
(A) TS
(B) T
(C) TR
(D) =
A*
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G 98 F1 C - N 35ma
(A) 20:1
{B) 15:1
€ 10:1
(D) 25:1

e miaferd aw am
=+ vt S

(A) wifam
(B) EFTE
(C) @
(o) @

T e R
(A s

(B) =H

(C) wwa

(D) =4

TEZIeE wehivg o Tee o fern wiaa
At EvEF R 7

(A)  Mn 3T Mg

(B) S3MB

(C) Ca¥M Mg

(D) Fe 3t Mo

U & T AfEm
(A) =T

(B) FEa

(C) et

(D) Teremies
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11.
T2

13,

15

16.

17.

18.

This Bookiat contams 48 pages.

Piease check all the pages of the Booklat
ﬁ!ullih b of any defect, please ask
igilatortfor raplacement of the Booklet.
Directions : Each question or incomplete
glalement i lollowed by four allamative
suggested answeors or completions. In each
case, you are required to selact the one thal
cormectly answers the question or complelas
ihe statement and blacken (@) appropriate
arcle A, B, C or O by BlueBlack Ball-Point Pen
against the question concarnad in the
Answer-Sheel. (For V.H. candidates
corresponding circle will be blackened
by the scribe)
Mark your answer by shading the approprste
circle against each question. The circie should
be shaded compietely withoul leaving any spaca.
The cormect method of shadmg Is grven besow,

T——

| ey Wrtnd] || Wieg e ool

ce00jo@gold

Tha Candidate must mark his/har response
afier caraful consideration.

r.l-rumIl Do Hﬂ'r.a:
W |

] Eols

There I8 only one coffacl answer to each
guestion. You should blacken (@) the drcle
of the appropriate column, viz,, A, B, Cor D.
If you blacken (@) more than one circla
against any one quastion, the answer will be
trealed as wrongd. [ you wish 10 canoet any
answer, you should complatety arase that Diack
mark in the cirche in the Answer-Sheet and then
blacken the circle of revised response

A maching will read the coded information
in the OMR Answer-Sheel. In case the
Information s incompletefdifferent from the
infarmation given in the application form, the
candidatire of such candidaie will be trealed
ag canceled

Use the space for rough wark given i the
Ouestion Booklel anly and mob on the
Answar-Shasl

You are NOT required to mark your answers
in this Booklet. All answers must be
indicated in the Answer-Sheet only.

0 0 0 A
IMPORTANT INSTRUCTIONS TO CANDIDATES
Fefraal & e wemgul e
11, YT A 48T E |

12, mgﬁ‘lﬂ%mﬁgﬁ‘rmm@ﬁﬂmai |
S am R, 7t B W 30 T & Pl |

Frier . Ts WA STHAET Uels Al FEA & 4
I T ] O we g T R | we

14

14,

17

18.

i g TR =9 A, B, G D A

AR TE S A A T | A

it sy Tt ves = A & 1 e 6 EE T
3y A S P L S S IR

e WA-T52 5 § ®ion (@) T 8
(sFemfim snfem & o am
ferfome gr @ Teem =)
e A o e 3 e T
T e | ga R e o e
Rt v o wd At e g
“:.——|=r-!1—_ s AfEE |117_-'r|1'|"q| Rl
Cecoloecoldscojoes
Fpeare] ] T I rqmmw—’ﬁ-ﬂw &
Tt wra Ty, |

gefam wiem sl A, B, C W D % T
T T (@) FT R | 9 A
g U | S T T S A |
ST T T A | af e
T, ST B A S I - & 3
Ty e T o gl o e v
<ot 5 v TR AR W
it 3, Fwi-vieRr § i g Ee [
e i et | o g s s
w3 i d v wE A B R, T
spcrfiten Fora wlt =Rl
et e % T e v v i g
it | - W e 1
¥ qiEET & W et e ol
w1 § | T e Tm-ufEeE A

Go through instructions given in Page No. 3 (Facing Page)
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O NOT OPEN THE SEAL OF THIS BOOKLET UNTIL YOU ARE TOLD TO DO snl

l

POST CODE /T 918 ; J :
2312, 12312

1 N

B

|

QUESTION-CUM ANSWER BOOKLET :

T I YT :

JDD-64/PGT-AGRV TIER-IVX-15 :

DESCRIPTIVE TIER — Il =oiamenss e -1 :

MAIN EXAMINATION/ T wiia 1

R

N

Time Allowed : 1 Hour Maximum Marks - S0

i T sifiram #i% ; 500

Foregifim w1 T .

IMPORTANT INSTRUCTIONS TO CANDIDATES :

|

i, Before making any entry on Question Paper and QAB candidate should count nnd:

chieck the no. of pages and if any discrepancy is seen then Invigiator should be informad N

immediately for another copy of Question Paper/QAB. W

K e . - A -l

- QAB it st ot wer i wffE i % o analiEn # g9 T e ) Wi 3T A '

i o o e o B B e 1 e - QAB ) gl i e Epi :

|

2 Answer of every question is expected at spacified space. The answer will not be checked i

|

if there is change in place of question or aNSWer. i
v e e i e o e SRR | e I e i w1 W I it e ot = | :
|

. |

3. It is mandatory to strictly follow the instructions by the candidates. =
R vy Tt g 1 Wi e el ] T whER R N
|

|

——a —— —— S _.

= gt 1 diel 99 76 7 @iel 74 7 el J AT i
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i) Essay (In English)

Wrile an essay on any one of the topics given balow 30 Marks:
a) The India of My Dreams.
OR
b) Life is a challenge.

OR
€) The greatest prablem facing the youth of today.

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click



SHATL.

JOD-64/PGT-AGRY TIER-IVX-15  ED 0 0 0 O 0O W YO0 O O o 0 A

i} Letter writing / Expansion of ldeas (In English)
Answer any one of the lollowing : 20 Marks

a) Familiarity breeds contempt.
OR

b) Write a latler refusing an invitation 1o a close friend'’s party and explaining why
you cannot go.

OR
c} “Self help is the best halp”.
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INSTRUCTIONS TO CANDIDATES

Time Allowed :
Descriptive Type Examination : 1 Hour
Total + 1 Hour

Please check all the pages of the |

Question-Cum Answer Booklet with
OMRA facing sheel. In case of any defect,
please ask the Invigilator for replacament

of the Booklet. In case of any discrepancy |

between the English and Hindi versions
ol any Question, the English version will
be trealed as final/authentic.

¥ou must not tear off or remove any shaet
from this Booklel. This Booklet must ba
handed over to the Invigilator belore you
leave the Examinabon Hall.

This Bookletl consists of Descriptive
Examination — 2 questions of 50 marks.
Limit your answer to the space provided
In this Booklet. No additional shest will
be provided

Answer the Questions as carefully as you
can. Soma Questions may be difficull
and others easy, Do not spand much time
on any Question,

Uise of Calculator/Palimtop/Laptop/Other
Digital InstrumantMobile/Cell Phone/
Pager is NOT allowsd

Candidates found guilty of misconduct/
using unfair means in the Examination
Hall will be liable for appropnate penal/
legal action.

You should not wnte your roll number, |

name or address In the space provided
for writing answer. In case of letter writing
name and address should be wrtien as
“abc”, “xyz" alc.
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